5557 Inl WU SR RE B O R RS Al T FRI545A8H (1) -9F (1) 150 (1) 167 (1) B B EBEE
Z | A 1 iz 2 L 3 L 4 L 5 6 L 7 8 L
A AE | B K 4 SEEE sk |4 K 4 SEEE sk |4 K 4 SEEE sk |47 K 4 SEE A sk |6 K 4 SEEE sk |47 K 4 E G | K 4 EE G & | K 4 SEE R O&
B 4 b JE i B 4 b JEi B 4 b JEi B 4 b JEi B 4 b JEi B 4 b JEi B 4 b JEi B 4 b JEi
100m 47 | 5| LA A 3 10.85 21 PHE 3 11.02 3fEE AR 3 11.10 4R KR 2 11.17 TR 2 11.17 6: 45 E FHEE 2 11.24 TERAMR s 2 11.28 8 FIA 2 11.29
9 AR L 2 -1.7 NETF 6 -1.7 A 3 -1.7 HUt 1 -1.7 e 2 -1.7 &t 2 -1.7 AR L 2 -1.7 A 3 -1.7
200m 48 | 5| LA A 3 21.49 2 fnE 2 21.92 3fEE AR 3 22.06 4 X FHE R 2 22.17 50FfA HEH 2 22.26 6 mH K 2 22.28 TiIZEM ELKER 3 22.31 SR K 2 22.35
16] HKEWL 2 1.6 Jese 2 1.6 AP 3 1.6 [ 2 1.6 NEF 6 1.6 it 4 1.6 1B 5 1.6 HUt 1 1.6
400m 48 | 5| LikEm ZEA 2 48.67 2ifA RH 2 49.24 3R HIK 3 49.44 47T B 3 49.48 5:ILIEE AR 3 49.53 6:n AOF 3 49.93 TR B S 3 50.29 8:HH B 2 50.63
8 NS 3 NEF 6 NEF 6 Fo T 1 HB ST 2 ik 6 A 3 F T 1
1 800m 48 | 5| 1AHE HA 2 1:52.29 | 2i@s7 K 3 1:55.60 | 3i=AK A 3 1:56.32 | 4 K76 S 1 1:56.92 | 5485 Foif 3 1:57.27 | 615 &2 3 1:57.37 | 7V FF fii— 3 1:58.35 | Simm#F R 2 1:59.38
16] ST #khas 3 NEF 6 Hil BA 5 ANE = U 3 HRK— 6 IEHIEE 1 AR 2 6 FUR R 3
1500m 48 | 5| 1.7k K— 3 4:00.04 || 2 fiE p— 2 4:00.42 | 3immie By 3 4:00.56 || 4 9B HEER 3 4:00.68 | 5VEEE B4 3 4:01.24 || 6 &G B2 3 4:01.47 || TIEK PER 3 4:02.68 | 8l fKER 2 4:05.86
8 AL 3 RRF B 3 KIF— 3 PR 3 FR— 4 HRK— 6 Hil A 5 B 2 6
5000m 48 | 5| 1i4hiE B— 2 14:50.44 || 211 E 8L 2 14:51.33 | 3ipERVA FERB 3 14:53.59 || 4 7@m K 3 14:58.58 | 5imse Bk 3 14:58.64 | 6. KT HO 3 15:01.83 | 7ifddE FERR 3 15:08.48 | 8Bk FA 1 15:14.07
16 AN U 3 KA — 3 R 3 KA— 3 KA— 3 itk 4 FOonFEHE 1 R 5
110mH 32 | 5| 1i=A B 3 14.77 20058 B 1 15.34 RIS N 1 15.47 4FRE K 3 15.72 5Tk 7R 3 15.82 6 2IF 3 16.05 18T 1F 3 16.23 8i/NEF Al 3 16.53
16 U 1 0.5 K&H AN U 3 0.5 AR5 1 0.5 A 3 0.5 R 5 0.5 N FEFH 6 0.5 A 5 0.5 FUR T8 6 0.5
400mH 33 | 5| 1iflF FERR 3 53.06 2=k By 3 53.88 RIE N 3 55.25 4R 2 55.36 5HRA YR 3 55.92 6 E Jeiy 2 56.19 TiRE WL 3 57.06 81l B 3 57.20
9 AN T 2 BT Ft 1 FEbE 3 I\ EF 6 FFEHE 1 NS 3 KIF— 3 [ JTERvA 2
3000mSC | 53 | 5| 1 7% K— 30 9:19.17 | 21k 3 9:31.33 | 3iEH A 3 9:34.80 || 4 BM K 3 9:36.12 | 5 =M 4R 3 9:36.52 || 6 tmE pkl® 2 9:41.30 || THIE AL 2 9:47.26 || S8HEW MK 2 9:48.26
9 A L 3 R B 5 AL 3 fEE2ES 6 I 3 R 3 KIF— 3 PG| 4
5000854 | 12 | 5| 1idAk #Hik 3 23:19.11 || 2. H— 3 23:53.78 || 312K Hik 3 23:57.78 || 4iiE —FE 3 24:53.36 || 5IAL PR 2 28:38.97
15 FL 1 FnFEHE 1 Ft 1 #WINEFIH 6 FL 1
4% 48 |51 R 5 2 INEF 6 3 EN) 3 4 EPNAI] 2 5 Stk 4 6 Hil FR 5 7 ABFEEL 3 8 FUR 1
100mR 9 B 3 FigE #ORHR 3 e A 2 JIEE FEth 2 AR Kk 3 Pk 3 e 1 2 A ik 2
BAR —I% 2 41.83 FHEF 3 42.07 FGE Eih 3 42.12 AR Jedy 3 42.45 [ 2 42.61 B 1% 3 42.61 A BE— 3 42.80 @A it 3 42.85
[GEEION 3 WA HE— 2 =3 R atd 3 (LS N 2 KB ELfi 2 K ThKHR 3 HIH 2 JRER KA 2
REA & 1 A RA 2 FRE ¥ 3 HIR AR 2 Mg Fer 2 Fow & 2 AR AR 3 K —A 1
4% 48 |51 SR 3 2 EN) 3 3 NEF 6 4 Stk 4 5 Hil AR 5 6 AR L 2 7 HER— 4 8 AR 1
400mR 16| AT fi— 1 MBS 3 WA HE— 2 WEH Fnzg 3 SF 3 AHEF A 2 Ao Bk 3 IR T 3
aE JEE 2 3:16.44 fae M 3 3:17.43 A RH 2 3:18.02 BE ik 3 3:21.30 BN ik 3 3:21.46 FRHE 3 3:22.04 &R 2 3:23.05 AR KRR 3 3:24.97
Il 3 ASEVSIN 2 M A 2 B A 3 =K FRIR 3 HIR IR 2 HEM Flik 3 o fz 2
LGN 2 =R BT 3 JENT FRK 3 AR Kk 3 5K ThKHR 3 TEiE (N 1 KH FE 3 PR R 2
Ak | 43 | 5| ligka @E 2 1.97 28K s 3 1.94 3 EE 3 1.94 H N e 3 1.91 5 FHE 2 1.91 6 H  TE3C 1 1.91 T AR 3 1.88 THHA EA 3 1.88
15 HUR 1 FUR 1 FUR 1 EmWN 1 AR5 1 NEF 6 AR 2 6 AR /N R 6
ek 13 | 5 Lyars A 3 4.40 2IBER Hhi— 3 4.30 3iHH % 2 4.20 4 E 3 4.20 5ikf b fE— 2 4.10 6: 1% 22 3 4.00 TR S5 3 4.00 8L i 1 3.90
8 Hil A 5 AwE) 6 FL 1 #rE 2 6 B 5 5 5 Bl 5 FL 1 FL 1
AERE | 47 | 5| 1iEA JEAER 3 7.30 2 fnE 2 7.24 3B A 3 6.90 4:bbEE EA 2 6.89 5 FHE 16 3 6.82 6LA K 1 6.80 TiEM B 3 6.66 8 RIF 3 6.63
8 BB 1 0.3 e 2 1.9 A 3 0.8 AR5 1 2.7 A 5 1.3 R 3 1.0 NEF 6 2.5 N FEFH 6 0.1
SERBE | 46 | 5| 1iERE mA 3 14.36 2:BR e 2 14.13 3iHM B 3 13.91 4% E EK 3 13.9 5: = B 3 13.85 6: Il fik 3 13.82 i B 3 13.75 8 BHEF L MRYA 2 13.71
6] NEF 6 1.7 EPN 4 2.1 NEF 6 2.5 A& L 2 1.3 FUR 1 1.2 ERPNGL = 1 1.3 AR 1 0.7 FRURAE 3 2.0
F| FdL#R | 44 | 5| LIZEE KR 3 15.33 2 EiE A 3 14.92 A fl— 3 14.68 4R B 1 14.52 5i 407 st 3 14.38 6 ARM HEK 3 13.89 TIARK Fnfd 1 13.41 8iE M &1 2 12.95
9 HUt 1 HUt 1 AR AR 6 HUt 1 it 4 & 2 HBHEFn 6 AN — IR 6
Mg | 41 | 5| ik Somt 3 47.76 2 BEJR K 3 46.88 3G WA 3 43.58 RPN Btk 3 41.92 5iERE R 2 40.44 6 EE K 3 39.95 7k IR 3 39.32 8EH IR 3 38.84
16]  yRi 4 FUR 1 FUR 1 R 3 FUR 1 NEF 6 Hg 3 itk 4
roe-$E| 23 | 5| LERI W14 3 47.69 2R B 3 47.07 3if L #— 3 45.87 48R FH 3 43.76 5 T A 3 43.73 6: =4k EA 3 42.98 TR B 3 42.80 8k B 2 41.43
8 R 3 BT 2 FOR T 1 FUR 1 FoR T 1 R 3 HB ST 2 FUR 1
RN 44 | 5| 1 HR 3 58.63 2 FaE 3 51.65 A EA 3 51.37 U IR RSN 3 50.29 51011 BEE 3 49.86 6imMA P 3 48.56 TIRM FER 3 48.07 8t JRAE 2 46.86
15| NTHAS 3 ABIEFN 6 Fit 1 Fit 1 AR5 1 Fit 1 HoESHE 1 ABIEFN 6
J\HEEER | 12 | 5| 1A 3 2 5147 PAESY NI RS N 2 4968 3T 17 3 4710 4 EE TR 2 4336 5imiE 2 4254 6 HH 2 3983 7iB% L fEIR 2 3877 8 RS HF 1 3548
8 ST A 3 HUL 1 HI B 5 HREFD 6 Hnt 1 HINFETFH 6 Uk Al 3 Hnt 1
11.34(0.2) 16.40(-1.1) 11.97(1.2) 17.34(-1.1) 11.73(1.2) 16.40(-1.4) 11.95(1.2) 19.08(-1.4) 12.21(1.2) 17.41(-1.4) 11.79(0.2) 17.98(-1.1) 12.39(0.2) 20.36(-1.4) 12.66(0.2) 19.74(-1.4)
9{ :6.19(0.8) 44.56 6.14(0.4) 48.42 6.32(0.6) 40.88 5.96(0.3) 32.00 5.86(0.2) 45.86 5.53(0.2) 30.52 5.80(0.4) 35.61 5.05(0.0) 31.61
10.51 1.83 12.80 1.74 7.78 171 10.36 1.80 10.24 1.47 8.27 1.44 8.15 1.74 8.23 177
50.25 4.59.25 52.62 4.51.49 52.85 4.51.08 52.82 5.06.64 55.19 5.07.15 53.37 4.57.20 55.38 5.06.85 56.89 5.23.85
3 w & 1T 1 143 2 )\ EF 6 71 RIRVA QIR 3 43 4 A9 3 39 5 A K& 2 31 6 R 3 30 7 AR 28 8 Hiilk 4 28
RAF R | F T L\EF 6 49 2 it 1 40 3RS 3 33 41T HhAS 3 27 51 R 3 27 SHEPN-311] 2 26 7R 3 26 8 k1L 3 22
* 74=IK 1 AR 1 91 2 N\EF 6 22 3 1 21 1 {RE 3 16 5 it 4 13 6 #EFn 6 10 THHUR T 1 10 81 LML - Hil 3 8
AR AT LS
12 1A H2H ¥3H H4H 12 F1H 2 H 30 a4
B mwEx 147 % I it Jesk H A i P ek I SUE B A R S
| BMAR 794 A ;@ R 15 1.1 2.7 0.2 ;@ Fofp B i B 2
| Bk 126 i : L 23.5°C 20.0°C 24.0°C 19.5C N AR oK RKom
T BIMAR 583 A 1w 38% 86% 43% 91%




5 57 [l AUURD e AR BT ER TR S ki FAISHESABH (1) -9 R (H) 151 (1) - 16 A (H) BB B E e
Z | A 1 fr 2 L 3 L 4 fir 5 L 6 i 7 L 8 L
i H AE | B SEEF sk |4 K 4 EE R &k | K 4 EE R &k | K 4 HE R & | K 4 HE R & | K 4 S E G | K 4 S E § | K 4 EE B &
B 4 XK R B 4 X R B 4 X R B 4 XK R B 4 X R B 4 X R B 4 XK R B 4 X R
100m 48 | 5| LithiE H 1 12.31 2UE M HIE 3 12.51 SRR HafE 1 12.72 4R AT 1 12.84 5 IR 2 12.92 6: iR BE 3 12.92 TR BREE 2 12.98 8i=a7 b—U— 3 13.07
9| R 3 -1.3 NEF 6 -1.3 Fit 1 -1.3 Fit 1 -1.3 PNl 5 -1.3 Jhoe 2 -1.3 2% 3 -1.3 B RS E 5 -1.3
200m 48 |5 iy A 1 24.75 2:dbE T 3 24.82 3ITETNY T 3 25.14 4 BIE 3 25.25 SRR it 1 25.51 6: 1%k APHRE 3 25.63 TR BREE 2 25.77 8iffEx AR 2 26.90
16] s 3 0.20e2) HRE S 1 0.20c2#) i 6 0.2 NEF 6 0.2 HUR 1 0.2 A 6 0.2 2E 3 0.2 gy 6 0.2
400m 47 |5 1i7ETRY T 3 55.73 2k T 3 56.03 3R AOERE 3 57.42 4K hE 2 58.59 PN S S 2 59.87 61/ W 2 59.91 7Y BT 1 60.57 8EH ER 2 60.64
8 i 6 = i HRE S 1 B iAWz 6 NETF 6 AR 2 PRI 3 HUR 1 HUR 1
4| 800m 48 | 5| ik T3 1 2:15.68 | 2 mEL ®=3x 3 2:19.48 || 3 THE AL 3 2:20.22 | 4iBER BT 2 2:2065 | 5)1lm ¥ 3 2:21.86 | 6ifFH HifE 1 2:23.31 TR E 2 2:25.08 | SiA T 1 2:25.38
9 HUR 1 IS 3 NETF 6 JER 3 HRE S 1 Ht 1 JIER 3 JER 3
1500m 48 | 5| L THE FRfC 3 4:36.27 || 2iEx kK AE 3 4:37.21 3R MR 3 4:37.91 | 4ifek #eER 3 4:3846 | 5 T AT 3 4:38.51 | 64 T 3 4:39.11 TR T 3 44365 || SIHE Vi 2 4:49.10
8 NETF 6 JER 3 JER 3 NETF 6 BRI 4 JER 3 [l 4 Ht 1
3000m 48 | 5| L& BRA 3 94548 || 2k ZE 3 9146.07 | 3i%k ARE 3 9:46.83 || 4fEx Ak AE 3 9:53.49 | 5 =4F BT 3 9:55.85 || 6 Ml T 3 9:56.44 | 7iEM BE 3 10:05.16 | 8ifAl E% 3 10:05.53
16 AR 3 &t 2 NETF 6 JER 3 JER 3 [ES 4 Sk 4 IS 3
100mH | 40 | 5| 1k Tik 3 15.28 AN €S 3 15.33 3K =eT 1 15.39 4RE Ak 2 15.67 5i¢nA T 1 15.77 6 LA WA 1 16.02 7 BT 2 16.09 8iRIRF 3 16.80
16 g 2 1.3 e s 3 1.3 HUR 1 1.3 A 6 1.3 R 4 1.3 PN ETF 6 1.3 EPN; I 4 1.3 HUR 1 1.3
400mH | 40 | 5| 1R #T 3 62.68 2URE Ak 2 64.63 3isIL AL 3 64.67 4:lm W 2 65.82 5 K ik 3 66.17 6:52 %)) 2 67.47 THEM A0 3 67.61 8 HE 3 68.72
9| HRES 1 i 6 Fit 1 NEF 6 B 2 [P N} 4 H RN 6 HRE S 1
300084 | 10 | 5| 1Bk H&E 3 15:10.63 || 2 kL Fn3E 3 15:14.16 || 3 @4 BE& 2 15:20.08 | 4ifEM AH] 2 15:51.99 || 5B fEH 3 17:17.90 | 6 5L AfEER 2 17:37.86 | 7i—(n HFEH 2 18:10.34 | 8i®H AFE 1 19:11.63
8 HUR 1 A JJ 2 5 #B = 1 JER 3 RN — I 6 Ht 1 HOU A 3 HOU A 3
4% 48 |51 Hnt 1 2 R 3 3 H )55 1 4 B¥ 3 5 213 6 6 NEF 6 7 e 2 8 S N- 4
100mR 9| mm BT 1 PR EE 1 HH OB 3 A ZRET 2 JhvAN 3 FAF B 2 Bt T 3 g A 3
FAR)T 1 48.67 i A 1 49.11 & #h7 3 49.12 B HRE 2 49.47 Nk =ET 3 49.57 Ry W& 2 49.65 g BE 3 50.25 WSH A E 2 50.39
fIRER RACT 1 R HTE 1 WA WE 3 A A3 3 e Ei 2 ek K 1 Ky Fik 3 A T 2
55 RUEF 1 it % 3 R A& 2 k7 = 2 TETNY T~ 3 B bix 3 R AFETF 3 P =T 3
4 31 |51 NET 6 2 I 6 3 HRER L 1 4 HUL 1 5 AR 4 6 R 3 7 HUR AR 3 8 ABHRFN 6
400mR 16| EE SR 3 Hig ET 2 B HEL 3 FARIT Rk 1 WSH HE 2 M NES 2 PR 2 AN A 3
Ky @& 2 3:55.64 TETY T 3 3:56.23 Wb HE 3 3:58.01 Bl A 3 3:58.06 AH T 2 4:04.02 Vel ik 3 4:06.17 wzo fm 2 4:08.49 W HEY 3 4:09.74
hm vz 2 g HE%EF 3 HH OB 3 IR RACF- 1 ks B 3 e % 3 KiTil #¢7 2 HE X 3
B HiF 3 e ik 2 e #T 3 55 Bt T 1 DA SRS 2 M A 3 I B 2 AN S 3
Ewbk | 43 | 5| 1IKH Fk 3 1.65 255 2 1.59 3k s 3 1.56 4iERR BE 3 1.56 4T A 3 1.56 GRS DR 3 1.53 TiRIR AR 2 1.50 TIRE A% 3 1.50
1 IRESS 2 o 1 H R ANERT 2 AL 2 B 6 Fit 1 Yk 4 HNEFH 6 A 4
FMEBE | 47 | 5| 14K B 3 5.68 2 FSE VR 3 5.47 3ipzn Hon 2 5.39 4iARKS RE 2 5.37 5iH B 2 5.34 6:<FI% 3 5.27 TR BET 3 5.27 8 o0& 3 5.21
9 # 3 1.7 Cirat 5 1.6 FURBRE 3 1.7 AKX 4 1.0 HUR 1 2.4 HUR 1 1.2 i 6 1.1 WA 4 KBt 4 0.6
TatLgE | 45 | 5| 1iEK #3E 3 13.28 215 HEPE 2 13.03 3R W 1 11.32 4i¥H EE 2 11.06 504 JndeT- 3 10.72 6 [LikF T3 A0 3 10.11 e =t 3 9.93 8k MF 3 9.54
15| H 1 Fit 1 Fit 1 HR AR 6 HBPIAS 6 A 4 S KB 2 HER— 4
T MR | 40 | 5| 1R #igE 2 36.94 20 ER 3 36.27 3iMH B 2 31.08 4ifEHE T 3 30.58 5:%2H £ET 2 30.00 6iff L S AF 2 30.00 TiIAR R 3 28.58 8iHEM A 3 27.19
9 HUT 1 o 1 o 1 Hl P 2 R 6 R 6 NETF%EE 6 R — 4 B LB 6
R0FE | 4l | 5| LET A 2 43.08 21K R 2 42.67 3R ST 3 36.15 41 T 3 35.76 5iE A 1 35.50 61 FAF AE 2 35.43 TIERE T 2 32.93 SN HIRFE 3 32.31
8| HU 1 o 1 B A e 6 H ik st 4 Fit 1 NEF 6 AR 4 TR 1
R | 10 | 5] 1AM ®B 3 4249 2: %) BN 3 3929 RIPNIIE 3 3929 45 2 3710 5:MH D 2 3468 6 EARFE 2 3187 TiRIR AR 2 2989 8 T 2 2891
15 #EAI 3 SR HUR 1 A 4 HUR 1 HUR 1 B LAt 6 HINETH 6 H1 P 5
15.40(0.9) 5.53(1.0) 16.08(-0.8) 4.89(0.2) 17.06(-0.8) 4.83(0.1) 17.25(0.9) 4.23(0.9) 19.29(0.9) 4.77(1.0) 18.25(-0.8) 4.48(0.3) 20.20(-0.8) 4.10(0.5) 19.52(0.9) 4.48(0.0)
16| i1.47 29.69 1.41 32.35 1.50 28.90 1.63 24.01 1.38 40.99 1.38 24.43 1.50 22.37 1.44 23.91
8.66 2.43.66 9.72 2.50.64 8.87 2.38.30 8.96 2.36.75 10.84 3.00.81 7.01 2.41.56 8.02 2.57.28 6.12 2.51.56
26.94(-1.4) 27.35(-1.5) 27.15(-1.5) 28.77(-1.4) 29.94(-1.4) 29.10(-1.5) 28.06(-1.5) 30.02(-1.4)
% ®w A 1L 1 162.5 2\ EF 6 61 3IEK 3 46 4 [ HE 6 39 4 HBEE 1 39 6 3 29 [ESS 2 25 8 11 3 16
RAG R (T 1 st 1 67 2\ ETF 6 58 3iIER 3 46 4 BB 1 39 4} 6 37 6 IR 3 29 eSS 2 17 8 LA 6 9
F T 4= 1nt 1 79.5 2 AR 6 9 RIET S 2 8 3 L 3 8 5 22 5 7 6 REE L e 6 7 7R N 2 6 7 AU AR 3 6
ALgR AR i [H] 0o
12 F1H #2H #3A F4H 12 F1H #2H #3H F4H
5| sk 147 s i Jal i Jke L ili Ikt ¥ =E w By b R OHE
+ SIAE 794 A ;’E JEGE L5 1.1 2.7 0.2 ;’E PR i R i £
| B 126 % R 23.5C 20.0C 24.0C 19.5°C AT TR ol b ko
+ SIAE 583 A T 38% 86% 43% 91%




